
QP25
DP2_

06
5

 | 2
0-

M
ar

-2
02

5 
9:

02
:0

6 
AM

 | 1
03

.1
75

.7
7.

13
4

QP25DP2_065 | 20-Mar-2025 9:02:06 AM | 103.175.77.134

 

 

Printed Page: 1 of 4 

  Subject Code: BEC101 

0Roll No: 0 0 0 0 0 0 0 0 0 0 0 0 0 
 

BTECH 
(SEM I) THEORY EXAMINATION 2024-25 

FUNDAMENTALS OF ELECTRONICS ENGINEERING 
TIME: 3 HRS                                                                                                                 M.MARKS: 70 

 

1 | P a g e  
 

Note:  Attempt all Sections. In case of any missing data; choose suitably. 
 

SECTION A 

1. Attempt all questions in brief.      2 x 07 = 14 

Q no. Question CO Level 

a.  Why does the depletion region width decrease after putting diode in 
forward bias? 
डायोड को फॉरवडŊ बायस मŐ रखने पर Ÿास Ɨेũ की चौड़ाई Ɛो ंकम हो जाती 
है? 

1 K2 

b.  What is negative resistance on tunnel diode? 
टनल डायोड पर ऋणाȏक Ůितरोध Ɛा है? 

1 K1 

c.  Why are FETs known as unipolar and voltage-controlled devices? 
FET को एकŬुवीय और वोʐेज-िनयंिũत उपकरण Ɛो ंकहा जाता है? 

2 K3 

d.  Write the ideal op-Amp characteristics? 
आदशŊ op-Amp िवशेषताएँ िलखŐ? 

3 K2 

e.  Why are NAND and NOR gates called universal gates? 
NAND और NOR गेट्स को यूिनवसŊल गेट्स Ɛो ंकहा जाता है? 

4 K2 

f.  What are the binary-arithmetic operations for 11.10 + 10.11 + 111.00 + 
110.11+ 001.01=? 
11.10 + 10.11 + 111.00 + 110.11+ 001.01= के िलए िȪआधारी-
अंकगिणतीय संिŢयाएँ Ɛा हœ? 

4 K3 

g.  A 600 watt carrier power is modulated to depth of 80%, calculate the 
total power in the modulated wave. 
600 वाट वाहक शİƅ को 80% गहराई तक मॉडुिलत िकया जाता है, मॉडुिलत 
तरंग मŐ कुल शİƅ की गणना करŐ । 

5 K3 

 

SECTION B 

2. Attempt any three of the following:      7 x 3 = 21 

Q no. Question CO Level 

a. For the circuit shown in Fig. find the maximum and minimum values of 
zener diode current. 
िचũ मŐ दशाŊए गए पįरपथ के िलए जेनर डायोड धारा के अिधकतम एवं Ɋूनतम 
मान ǒात कीिजए। 

 

1 K4 

b. Why is common collector mode generally not preferred? 
Increase in collector emitter voltage from 5V to 8V causes increase in 

2 K3 
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collector current from 5mA to 5.3mA. Determine the dynamic output 
resistance. 
कामनकलेƃर मोड को आम तौर पर Ɛो ंपसंद नही ंिकया जाता है? कलेƃर 
एिमटर वोʐेज मŐ 5V से 8V तक की वृİȠ कलेƃर करंट मŐ 5mA से 5.3mA 
तक की वृİȠ का कारण बनती है। गितशील आउटपुट Ůितरोध का िनधाŊरण 
करŐ। 

c. Calculate the output voltage for the given circuit. 
िदए गए सिकŊ ट के िलए आउटपुट वोʐेज की गणना करŐ । 

 
 

3 K4 

d. Explain the working of op-amp as Integrator and derive its output 
voltage. 
इंटीŤेटर के ŝप मŐ op-amp की कायŊŮणाली समझाइए तथा इसका आउटपुट 
वोʐेज िनकािलए। 

4 K3 

e. An AM wave is represented by the expression: 
V = 5 (1 + 0.6 cos 6280 t) sin 211 × 104 t volts 
(i) What are the minimum and maximum amplitudes of the AM wave? 
(ii) What frequency components are contained in the modulated wave 
and what is the amplitudeof each component? 
AM तरंग को िनɻ अिभʩİƅ Ȫारा दशाŊया जाता है: 
V = 5 (1 + 0.6 cos 6280 t) sin 211 × 104 t वोʐ 
(i) AM तरंग के Ɋूनतम और अिधकतम आयाम Ɛा हœ? 
(ii) मॉडुिलत तरंग मŐ कौन से आवृिȅ घटक शािमल हœ और Ůȑेक घटक का 
आयाम Ɛा है? 

5 K4 

 

SECTION C 

3. Attempt any one part of the following:     07 x 1 = 07 

Q no. Question CO Level 

a. An a.c. supply of 230 V is applied to a half-wave rectifier circuit through 
a transformer of turn ratio 10 : 1. Find (i) the output d.c. voltage and (ii) 
the peak inverse voltage. Assume the diode to be ideal. 
230 V की एक a.c. आपूितŊ को टनŊ अनुपात 10 : 1 के एक टŌ ांसफामŊर के 

1 K4 
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माȯम से एक अधŊ-तरंग िदʼकारी पįरपथ पर लागू िकया जाता है। (i) 
आउटपुट d.c.वोʐेज और (ii) िशखर ʩुǿम वोʐेज ǒात करŐ । डायोड को 
आदशŊ मान लŐ। 

 
b. What are the advantages of negative clipper circuits? 

For the given input waveform to the given circuit, what is the peak value 
of the output waveform? 
नेगेिटव İƑपर सिकŊ ट के Ɛा फायदे हœ? 
िदए गए सिकŊ ट मŐ िदए गए इनपुट वेवफॉमŊ के िलए, आउटपुट वेवफॉमŊ का 
पीक वैʞू Ɛा है? 

 
 

1 K4 

 

4. Attempt any one part of the following:     07 x 1 = 07 

Q no. Question CO Level 

a. Explain, why is enhancement MOSFET preferred over depletion 
MOSFET for switching purposes? 
समझाइए िक İˢिचंग Ůयोजनो ं के िलए िडɘेशन MOSFET की अपेƗा 
एɎांसमŐट MOSFET को Ůाथिमकता Ɛो ंदी जाती है? 

2 K3 

b. In CB configuration, the value of α=0.98A. A voltage drop of 4.9V is 
obtained across the resistor of 5KΩ when connected in collector circuit. 
Find the base current. 
CB िवɊास मŐ, α=0.98A का मान है। संŤाहक पįरपथ मŐ संयोिजत होने पर 
5KΩ के Ůितरोधक पर 4.9V का वोʐेज डŌ ाप Ůाɑ होता है। आधार धारा ǒात 
कीिजए। 

2 K4 

 

5. Attempt any one part of the following:     07 x 1 = 07 

Q no. Question CO Level 

a. Derive the output voltage is proportional to the difference between the 3 K3 
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two input voltages in Op-amp. 
आउटपुट वोʐेज को Op-amp मŐ दो इनपुट वोʐेज के बीच अंतर के 
समानुपाती मानŐ। 

b. Calculate the output of the circuit shown in Fig. 
िचũ मŐ िदखाए गए सिकŊ ट के आउटपुट की गणना करŐ  

 
 

3 K4 

 

6. Attempt any one part of the following:     07 x 1 = 07 

Q no. Question CO Level 

a. How can I solve this, F =∑ (0,1,2, 3,5, 7,13,15) +d (8,10) simplify using 
K-Map and design logic resultant circuit using basic logic gates? 
मœ इसे कैसे हल कर सकता šं, F = ∑ (0,1,2, 3,5, 7,13,15) + d (8,10) K-मैप 
का उपयोग करके सरल करŐ  और बुिनयादी लॉिजक गेट्स का उपयोग करके 
लॉिजक पįरणामी सिकŊ ट िडज़ाइन करŐ? 

4 K3 

b. Minimize the following Boolean function in POS form using the K map. 
K मैप का उपयोग करके POS फॉमŊ मŐ िनɻिलİखत बूिलयन फ़ंƕन को 
Ɋूनतम करŐ । 
f⟮A,B,C,D,E⟯=∏M⟮3,5,6,9,10,11,13,19,21,22,23,25,26,27,29⟯ 

4 K4 

 

7. Attempt any one part of the following:     07 x 1 = 07 

Q no. Question CO Level 

a. A sinusoidal carrier voltage of frequency 1 MHz and amplitude 100 
volts is amplitude modulated by the sinusoidal voltage of frequency 5 
kHz producing 50% modulation. Calculate the frequency and amplitude 
of lower and upper sideband terms. 
आवृिȅ 1 मेगाहट्Ŋज और आयाम 100 वोʐ का एक साइनसॉइडल वाहक 
वोʐेज 5 kHz आवृिȅ के साइनसॉइडल वोʐेज Ȫारा आयाम मॉǰूलेट िकया 
जाता है जो 50% मॉǰूलेशन उȋɄ करता है। िनचले और ऊपरी साइडबœड 
पदो ंकी आवृिȅ और आयाम की गणना करŐ । 

5 K4 

b. Derive the transmission efficiency and total power of amplitude 
modulated wave assuming message and carrier wave as sinusoidal wave. 
संदेश और वाहक तरंग को ǛावŢीय तरंग मानते Šए आयाम मॉडुिलत तरंग 
की संचरण दƗता और कुल शİƅ ʩुȋɄ करŐ । 

5 K3 

 


